

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

#### Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

### INVOICE

Invoice Number: 142519
Invoice Date: Apr 10, 2014

Page:

1

Customer ID	Field Ticket#	Payment	Terms
Shak	63383	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-04	Oakley	Apr 10, 2014	5/10/14

Quantity	Item	(second second s	Description	Unit Price	Amount
1.00	WELL NAME	Janzen #5-36			
260.00	CEMENT MATERIALS	Class A Common		17.90	4,654.00
140.00	CEMENT MATERIALS	Pozmix	1//1	9.35	1,309.00
25.00	CEMENT MATERIALS	Gel	1101	23.40	585.00
4.00	CEMENT MATERIALS	Cottonseed Hulls		35.00	140.00
624.67	CEMENT SERVICE	Cubic Feet Charge		2.48	1,549.18
1,079.55	CEMENT SERVICE	Ton Mileage Charge		2.60	2,806.83
1.00	CEMENT SERVICE	Port Collar 🗸	N-2	2,483.59	2,483.59
45.00	CEMENT SERVICE	Pump Truck Mileage	Mi 'OFTO DE-	7.70	346.50
45.00	CEMENT SERVICE	Light Vehicle Mileage	14 THURST	4.40	198.00
1.00	CEMENT SUPERVISOR	Alan Ryan	APR 2 1 2014		
1.00	EQUIPMENT OPERATOR	Kevin Ryan			
			UUDOISUS		
			5		
			The Change of the Canada		
			10502-5		
			10302		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

3,517.02

ONLY IF PAID ON OR BEFORE

May 5, 2014

Subtotal	14,072.10
Sales Tax	545.07
Total Invoice Amount	14,617.17
Payment/Credit Applied	
TOTAL	14,617.17



# ALLIED OIL & GAS SERVICES, LLC 063383 Federal Tax I.D. # 20-8651476

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	SERVICE POINT:
DATE 4/10/19 16 19	ALLED OUT ON LOCATION JOB START JOB FINISH
LEASE JUNGEN WELL # 5-36 LOCATION Perce ET	Bage STOPE FOSTIND SUDITY BY
OLD OR NEW (Circle one)	13 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
CONTRACTOR W: (I West TYPE OF JOB POOT COLOR - Wal.	OWNER frame
HOLE SIZE T.D.	CEMENT
CASING SIZE 5/2 DEPTH	AMOUNT ORDERED 500 65/35 87001
TUBING SIZE 24/8 DEPTH	14 Flo Seal
DRILL PIPE DEPTH TOOL POST COLUMN DEPTH 2404	-1000 A Hells On Enle
PRES. MAX MINIMUM	COMMON 260 @ 1794 4654 65
MEAS. LINE SHOE JOINT	POZMIX 140 @ 236 BODE
CEMENT LEFT IN CSG.	GEL 25 CATE
PERFS.	CHLORIDE@
DISPLACEMENT 824	ASC@
EQUIPMENT	Hulls 4511 @ 35th 140 200
PUMPTRUCK CEMENTER AL RUGA	
# AND WIRSHELPER Key Ryan	@
BULKTRUCK	
# MAN SPORIVER Jun- Trouge	
BULKTRUCK	@
# DRIVER	HANDLING 624.67 05-@ 2 1545 0
	MILEAGE 2 TON M. (622.29 YON 2806 87
REMARKS:	(2,760.00 (253)) TOTAL /1040
Test Dol, opertool, Est BLOCKERO.	( 0, 100,00 (00 )
	A
My Skamity Sk Hells	SERVICE
	DEPTH OF JOB
	DEPTH OF JOB
	DEPTH OF JOB
	DEPTH OF JOB PUMP TRUCK CHARGE 948322 EXTRA FOOTAGE @ 522 346.52
My Skamty Sk Hulls	DEPTH OF JOB
My Fl. Coment ref 5th Hells	DEPTH OF JOB
My Fl. Coment ref 5th Hells	DEPTH OF JOB
CHARGE TO: Shell & freeze	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 45 @ 522 346 52 MANIFOLD @ 440 196 62  (7.57.03/253)
My Fl. Coment ref 5th Hells	DEPTH OF JOB
CHARGE TO: Shell & freeze	DEPTH OF JOB
CHARGE TO: Shell & freeze  STREET	DEPTH OF JOB PUMP TRUCK CHARGE
CHARGE TO: Shell & freeze  STREET	DEPTH OF JOB
CHARGE TO: Shell & freeze  STREET	DEPTH OF JOB
CHARGE TO: Shells greene  STREET  CITYSTATEZIP_	DEPTH OF JOB
CHARGE TO: Shells greene STREET CITYSTATEZIP_ To: Allied Oil & Gas Services, LLC.	DEPTH OF JOB
CHARGE TO: Shells freeze  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC, You are hereby requested to rent cementing equipment	DEPTH OF JOB
CHARGE TO: Shelle speece  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	DEPTH OF JOB
CHARGE TO: Shells greene  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC, You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	DEPTH OF JOB PUMP TRUCK CHARGE
CHARGE TO: Shells greene  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC, You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	DEPTH OF JOB
CHARGE TO: Shells greene  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	DEPTH OF JOB
CHARGE TO: Shells greene  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC, You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	DEPTH OF JOB
CHARGE TO: Shalk speece  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC, You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB PUMP TRUCK CHARGE
CHARGE TO: Shells greene  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	DEPTH OF JOB PUMP TRUCK CHARGE
CHARGE TO: Shalk speece  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC, You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

### Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

## INVOICE

Invoice Number: 142490 Invoice Date: Apr 6, 2014

0200200200	- 1
age:	- 1
- 3	

Customer ID	Field Ticket #	Payment	Terms
Shak	61336	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Apr 6, 2014	5/6/14

Quantity Item		Description	Unit Price	Amount
1.00	Janzen #5-36 ALS Gel ALS ASC ALS Salt ALS Gilsonite ALS CD-31 ALS WFR-II E Cubic Feet Charge E Ton Mileage Charge E Long String Heavy Vehicle Mileage Rotating Head Rental Light Vehicle Mileage RATOR	APR 2 1 2014 J	23.40 20.90 26.35 0.98 10.30 58.70 2.48 2.60 2,765.75 7.70 475.00 4.40	70.2 2,926.0 395.2 686.0 1,009.4 704.4 450.1 920.7 2,765.7 346.5 475.0 198.0

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,736.94

ONLY IF PAID ON OR BEFORE

May 1, 2014

Subtotal	10,947.48
Sales Tax	471.99
Total Invoice Amount	11,419.47
Payment/Credit Applied	
TOTAL	11,419.47



# ALLIED OIL & GAS SERVICES, LLC 061336 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092		SER	ICE POINT:	1.KS
DATE 4-18-14 SEG L TWP L RANGE 34 CA	ILLED OUT	ON LOCATION	JOB START	10B FINISH
DAID IV I SU SI	011		COUNTY	STATE
LEASE Janzen WELL# 5-36 LOCATION RINCE	·	le Ka	xatt	LKS
OLD OR VEW (Circle one) Stor E+SI	nto		J H	
CONTRACTOR HD n's 2	OWNER &	Same	100	<del></del>
TYPE OF JOB Production (long string) HOLE SIZE 77/8 T.D. 4863	CEMENT	277		
CASING SIZE 57/2 DEPTH 4863,37	AMOUNTO	RDERED 140	sks AS	C 10%
TUBING SIZE DEPTH	salt 5x	Colsonte 29	logel !	150f/%
DRILL PIPE DEPTH	-co-3/-			
TOOL Port Coller DEPTH 2404.25	aat		•	120
PRES. MAX MINIMUM MEAS. LINE SHOE JOINT 43. 67	COMMON_		_@	
CEMENT LEFT IN CSG. 43, 67	POZMIX _ GEL	35ks	@23.40	70,20
PERFS.	CHLORIDE		@	
DISPLACEMENT 114.71 bb/ water	ASC	14056	@20,90	2926,00
EQUIPMENT	Salt-	15sk	@ 24.35	395,25
240.1	Gilsonit	2004	_@ <i>_,98</i> _	686,00
PUMP TRUCK CEMENTER Paul Beauer	CD-3/	98*	@10,30	1009,40
# 120 HELPER TOLY FLOSE	(PD T	13///	@ <del></del>	704.40
BULK TRUCK	WIRTI	12,66/		107.10
# 600 DRIVER Thomas (TWS)		· · · · · · · · · · · · · · · · · · ·	_@	· · · · · · · · · · · · · · · · · · ·
BULK TRUCK			@	
# DRIVER	HANDLING	181.5343	@ Z48	450.19
		7.87 tons X 4.		
REMARKS:	(1,790	5.55 25%	) TOTA	7/62,23
Freak parce Drop boll, Ball 200 # Circlh	r.			(45 € m - 100) (20 d d d d d d d d d d d d d d d d d d d
Mix 12661 WFR-IT, Mix 30 sks inter		SERV	ICE	
Mix 1108KS ASC down custing washing	,			2121
into pit reliase plus displace il mater	DEPTH.OF		48	363'
Plug did land @ 1500 th w/ 800 th lift		CK CHARGE	. 4.2	765.75
Float did hold	BXTRA FO	DIAGE US	@ <u>7.70</u>	346.80
Store de Par	MANIFOLI	rotatin head		475,00
Paul + Tyler	MANIFULL	HOLENIA LIANG	@ <u>4.40</u>	18800
Taut Tyler		152	. @	
CHARGE TO: Shake speare	194	38 25%	/	
SECOND 2 (1997)	ζ.	3 1	тота	13785,55
STREET			•	
CITYSTATEZIP		DY HO 9 EL O1	ri P∧tun.α	Max
		PLUG & FLOA	T EQUIPME	MI
*				
	<del>Fite as-</del>		<u>@</u>	
m			@	<del></del>
To: Allied Oil & Gas Services, LLC.			@	- <del> :</del>
You are hereby requested to rent cementing equipment		•	@	
and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was		(0%)		West
done to satisfaction and supervision of owner agent or		(0.0)	TOTA	L .
contractor. I have read and understand the "GENERAL		•		
TERMS AND CONDITIONS" listed on the reverse side.	.SALES TAX	( (If Any)		
AMAMAS TILLIS COLLISIONOLO HIGHWAY OLUCA	TOTALCH	ARGES 10.94	7.78	
David Dala 11/16	A ST WIND MINERS		nest	
PRINTED NAME DOUG 100 8(17	DISCOUNT	d,145.79 (	W IF P	ID IN 30 DAYS
		8,210.83	Not.	*se
SIGNATURE Nay Laber				



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

### Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

## INVOICE

Invoice Number: 142228

Invoice Date: Mar 25, 2014

Page:

Customer ID	Field Ticket #	Payment	Terms
Shak	62055	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Mar 25, 2014	4/24/14

Quantity	Item		Description	Unit Price	Amount
1.00	WELLNAME	Janzen #5-36	,		
180.00	CEMENT MATERIALS	Class A Common	INT	17.90	3,222.00
3.00	CEMENT MATERIALS	Gel	(101	23.40	70.20
6.00	CEMENT MATERIALS	Chloride		64.00	384.00
194.64	CEMENT SERVICE	Cubic Feet Charge		2.48	482.71
399.73	CEMENT SERVICE	Ton Mileage Charge		2.60	1,039.30
1.00	CEMENT SERVICE	Surface //		1,512.25	1,512.25
45.00	CEMENT SERVICE	Pump Truck Mileage		7.70	346.50
1.00	CEMENT SERVICE	Swedge Manifold Rental		275.00	275.00
45.00	CEMENT SERVICE	Light Vehicle Mileage		4.40	198.00
1.00	<b>EQUIPMENT OPERATOR</b>	Talon Jones	MEGE		
1.00	EQUIPMENT OPERATOR	Kevin Ryan	APR 0 7 2014		
				18502	2-5 KW/

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,882.49 🗸

ONLY IF PAID ON OR BEFORE Apr 19, 2014

Payment/Credit Applied TOTAL	7,829.57
Daymont/Crodit Applied	1,020.01
Total Invoice Amount	7,829.57
Sales Tax	299.61
Subtotal	7,529.96



### ALLIED OIL & GAS SERVICES, LLC 062055

Federal Tax I.D.	# 20-8651475	•			
REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092		SERV	VICE POINT:	CEPOINT: Onlybey les	
DATE 3-2399 36 16 39	LLED OUT	ON LOCATION	JOB START	JOB FINISH	
LEASE Janzen WELLH 5-36 LOCATION PENCE	E L Fool	. Ad.	COUNTY	STATE	
OLD OR (EW)(Circle one) Sto TEGS is		0100	1201.	1	
J. A	Teatra and the same		_		
CONTRACTOR H.D. TYPE OF JOB Sarface	OWNER Sa	me			
HOLE SIZE /2/4 T.D. 248 St	CEMENT				
CASING SIZE 85/8 DEPTH	AMOUNT ORDERED 180 com 31/1 CC				
TUBING SIZE DEPTH	2"% Ge				
DRILL PIPE DEPTH TOOL DEPTH					
TOOL DEPTH PRES. MAX MINIMUM	COMMON /	80 con	@ 1790	2079 00	
MEAS, LINE SHOE JOINT	POZMIX	rv corv	@		
CEMENT LEFT IN CSG. 15 ft.	GEL	35ks	@ 23.40		
PERFS.	CHLORIDE_	6 Sks		384.00	
DISPLACEMENT /6.//6/	ASC	***************************************	-@		
EQUIPMENT					
PUMPTRUCK CEMENTER Talon Jones		*************	_@		
# 423/28/ HELPER Kevin Ryan	-		_@		
BULK TRUCK			_@		
#818/ DRIVER Alex (tws)			~ <b>@</b>		
BULK TRUCK			@		
# DRIVER	HANDLING_	194.64 cust	@ 2,48	482,31	
20041240	MILBAGE _&	18xx X 45mi		1039.31	
REMARKS:			TOTAL	5/28.22	
Purped 180 sks, 3%.cc, 2%. Gel @ 168 ft Coment did circulate		SERV	(CR		
DON PER COMMENT CHANGE		OBA(T)			
	DEPTH OF JO	ов	777		
	PUMPTRUCE		1512,25		
M. W.	EXTRA FOOT	· · · · · · · · · · · · · · · · · · ·	@ Z 20	346.50	
2 / har buy	MANIFOLD _		@	275,00	
,	light cl	uty ml	@ 4.40	198,00	
		-	@		
CHARGETO: Shakespeare oil.			momit	2331,75	
STREET			TOTAL	, 20211	
CITYSTATEZIP					
01112		PLUG & FLOA	T EQUIPME	YT	
			_@		
T. AW. JOH & On Condens III C					
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment			@		
and furnish cementer and helper(s) to assist owner or			@		
contractor to do work as is listed. The above work was					
done to satisfaction and supervision of owner agent or			TOTAL	L	
contractor. I have read and understand the "GENERAL	CAT DO TAV	(If A nu)			
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX	· · ·	TP.PG7		
01 . 0	TOTALCHA	RGES	INT.II		
You also live a con			2		
PRINTED NAME Stuphen fearce	DISCOUNT -	1,882.1	147 Net	ID IN 30 DAYS	